FS REGENT

W INTERNATIONAL SCHOOL

@ evolve

Math Workbook
Year 3

Student Name :




Counting in Is

A game for two players, each with a counter on ‘Start’. Write the
missing numbers on the track. Take turns to roll a dice and move
your counter a matching number of spaces. Say aloud each number
you land on. The winner is the first to reach ‘Finish’.
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}Start 686|687 |688|689|690
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Hundreds, tens and units

e A I T

Here are
100 cubes.

=== = =

Write how man
cubes in each set

)

V4

10.

Here are

|10 cubes.
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Draw £, 10p and Ip coins
to match each amount.

Vod
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Year 3 Bleck Al « PCM 4 | Name

3-digit numbers

) -

Write a different [ cutoutihe strips ‘] Explore how many
number from | to 3-digit numbers

9 in each blank. L GRS AIng e liates. J you can make.
X,

0 O
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“Year3 Block Al=PCM5 | Name

Bees

[Estimnte how many bees there are. Count them, grouping in Ss.j
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Estimate: bees Count: bees




— Year3 BlockALsPCM 6 | Name

| more, | less, 100 more, 100 less

@EE;:ZTE"Z??J | 229|230 | 231
> 146 > 759
: 300 > 325
’ 164 ’ q99
Q/] ) 243
! 186 . q02
" 874 ‘ 76|
? 555 " 438




~Year 3 Block Al « PCM 7

100 more, 100 less

Write the numbers
100 less or 100 more

]

fa\32

IOO
more

100
less

100
less

100
more

BT S

100 T HiGre

192

276

355 619

7134

428

100 | less
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| more, 10 more |

@cinplete the number rockets.

6
143

5
]

178

|

156

——

- 119

—e———
IR ie

|40 more

b
h

223N

329
416

N

777 a7




Adding to 100

[For each grid, write the number of squares thutj

are shaded, and the number that are not.

Vg
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. 30 + 70 =100 2, + =100
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4, + = 100
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Adding to 20

Write the number
partners to 20.

/4

D

Name
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Pairs to 20

@plete these subtructions.]

20— 13 =
20— | =
20 —

20 —

20— 9 =

20 —

20— 2 =

10.

12.

14.

20— 4 =
20— 8 =
20) =

20 —

20—-19 =

20 —

20 —

18

13
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Adding three numbers

E

.

13

5.

19.

omplete these additions
Look for 10s!

5+5+3=

4+8+6=

2+8+9=

T+ 8 F 3=

| +7+9=

| +1+9=

4L+4+6

q 2 4 |

6+6+4

4+5+6=

]

13

4.

6.

8.

10.

12.

16.

18.

20.

7+3+3=

8+6+2=

0+9+0=

q+3+1=

7+4+5+3=

8 +2+2=

5+4+5

2+ 38+ |

5+ 06+5




each pattern.

-
: \ Colour squares red, rectangles
gt S orange, triangles yellow, hexagons

blue, and octagons green.

N

Make up a

pattern of

!

your own.

N

L] - -
- L]
- - -
- - -
- -
- L] - - - - - L] L]
[ ] L]
L]
- - -
[ ] -
- - - - - - L L] - - L] L]
- - - - L] ] - [
- L] L] L] L] L]
- - - - L] L]
- - - - - - -
L] - - - - - -
- - - - - - - -
- - - L] - - L]
- - - - - - L] L] -
- ] - - L] L] L]
- - - - - - - - - -
- - - - - -
- - - - - L] - - [
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Names of shapes

Write the name
of each shape.

)

Draw your own set of
shapes and name them.




Symmetry

Draw the lines of symmetry
on these shapes.

4

./
N

{007 PY] UDROINPT WNOUOH @ Wd E 108), UOIIP] YOMBLUDIY BAJOAZ SNODTY



Symmetry

Draw the other half of these
symmetrical shapes.

- - - - -

Use dotted paper to draw some
symmetrical shapes of your own.

)

4

- -
I
1
]
L] L] L]
1
1
I
L] L] - -
!
I
(]
& - -
1
]
1
& - -
1
1
1
& -
1
i
i
L] L] -
L] L] L]
- - .
L] L] L] L]
- " - -
. -
]
|
I
] - -
I
I
I
L] - -
I
|
I
- '] . . . -
]
I
I
L] L] -
- - L] -
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Metres l. your height
A _
Ll Im
Circle the length you
[think is nearest. ] 2m
&
3m
Y
2. teacher’s 3. classroom 4. classroom
height length height
P (&) 5]
4%
o

S|
=

4m 6m 8m 2Zm 3m 4m

5. height of a room
By o
Write your own estimates é
for these lengths. @ @
% "
Y ——

6. height of 7. width of 8. length of
school playground hal
4 & o
l' i QUD \ b
.. g - S - S
m m m

(e



..Year.3.Block.ClL.e. PCMA8......) Nome . ..

Centimetres
Find one of UMeusure its length, width]

each object. or height in centimetres.

I 2.
(_IEE*:—_:"—E;
cm cm cm
L < 6
g O
cm cm cm
7 8. q. 4
— 5
U - a
- - Y5
cm cm cm

IO.:@ 1. ig:/; 12. @:"J]

cm cm cm
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in centimetres (cm

hs
¥

@rit& these lengt
F

. 1'35m
3. 3m

1
5 22 m

7. 6m7cm

---------------

cm

cm

cm

cm

[Write these lengths in metres (m)

using a decimal point.

L
q. 245 cm

1. 400 cm

13. 208 cm

I5. 65 cm

12.

14.

16.

458 m

20 m

. 325 €m

150 cm

306 cm

cm

cm

cm

cm
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Transport Tallies

skateboard i

'  bicycle

tricycle

o

scooter i

" | roller blades 'ﬁ

I. What was the total number of tallies? .

2. Which type of transport appeared most?

3. Which type of transport appeared least?




Pictogram

The results are shown in the pictogram.

Some children were asked for their favourite colour.]

Favourite colour

Key

. = 2 votes
N N

blue N N N

“ OO0 O®®
green

yellow || @

@(E which colour: )

A o R ———— 2 NES TS i
3. is the most popular _..____________ 4. is the least popular .____.___________
5. has 3 more 6. has 3 less
votes than yellow ... votes thanred ________________.
7. has twice as many 8. has 2 more
votesas green _________________ votes thangreen ...
9. is the second 10. has 5 less votes
mMost popular e thanred ...

Il. How many children voted altogether?
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Adding

1/2(3(4(5/6|7|8]|9 17|18
Complete these additions. L
Use the number track to help. 20
) 2I
L. 164% = 3, 4B = 3, B+5 = 22
23
4. |6+ 3 = 5. 204 4 = 6. 23+5= £4
25
26

7. 24 + 4 = 8. 2343 = 9. 31+5 =
27
28
10. 40+ | = . 204+9 = 2. 22 +5 = 29
30
3. 2342 = 4. 31+7 = 5. 274+ 7 = 3
32
6. 1647 = 7. 26 +9 = 8. 1845 = 33
34
35
9. 3|+ 9 = 20. 33+ 4 = 2. 26+ 6= 36
37
2. 15+7 = 23.33+6 = 24. 23+ 8= 38
39
25. 25+ 5= 26. 2l + 6 = 27. 3|4+ 8 = 40
4]

28. 24 + 9 = 29. 1l +7 = 30. 3+ 4 =

IS0 1ISsiIIrsS YIS ST i SELma=T &

BOLY M AN g

JON7 DY UONOaannDg uncos



Problems

Ravi saves l4p, and is then
given another 3p. How much
has he altogether?

Sue buys an ice-cream for 30p
and a ball for 9p. How much
has she spent altogether?
.--f'f‘“
T
G
G \:‘?‘

2

Ve, ,‘a_,\
5 s

Jane has 8p more than Lu,
who has llp. How much does
Jane have?

Rob has 25 sweets. When he
comes back from the shops he
has a total of 29 sweets. How
many more sweets did he buy?

i

Nick is 4 years older than
Katie. Katie is |4 years old.
How old is Nick?

08 QN
VY
/. &

Laura is 3 years younger than
Mark, who is 28 years old.
How old is Laura?

&N

The time is 11:40. What time
will it be in 7 minutes?

One number is 7 more than
another. If the larger number
is 19, what is the smaller
number?
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Subtracting

L

[Write the missing numbers to complete the subtructions,j

g

. 25 = 5 = 2. 36 — 6 =
3. 18 — 8 = 4, 4] — 7 =
5. 29 — q = 6. 54 — 4 =
7. 26 — = 20 g. 38 — = 30
. 19 - = |0 0. 42 — = 40
L. 35 — = 50 2. 34 — = 30
13 - 2 = 30 14 - 5 =70
15 - 7 =50 6. - 4 = 20
17 — 3 = 40 8. - 8 = 90




Subtracting &f@%j/: 3;%

112|3]| 4 qiIo| IH|{12{13[14[I15|16|17|18
19
. 18 —6 = 2. IS5 =5 = MZD
e alF”
3. 22 —4 = 4 |13 —4 = 22
23
24
5. 23 —8 = 6. 24 —5 = =
26
7. 17 —3 = g. 35—8 = 27
28
q 3l -7 = 0. 21 —8 = 29
.rc_\_%‘ 7130
. 33 —4 = 2. I5 =7 = o |3
32
33
3. 24 — 8 = = 34
35
5. 15 —6 = = 36
37
- . . 38
7. 30 — 8 = 8. 33 —8 = =

=3
Q|40

@ 32 -9 = 0266 =] |*%

naoaqy
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Problems

3 Le L

Angela won 27 points, then
lost six points. How many
points has she now?

There are 34 children at the
party. Two leave early. How
many are left at the party?

Lyn has 7p less than Sam, who
has 19p. How much does Lyn
have?

I went to the sweet shop with
39p in my purse, and came

out with 32p. How much did I
spend?

The cost of an ice-cream has
been cut by 9p. It used to be
28p. How much is it now?

Mum is 36 years old, and her
sister is six years younger.
How old is Mum’s sister?

Stefan has 26p, and James
has 5p less. How much do
they have between them?

Megan spent 7p. She has 22p
left. How much did she start
with?

Tina broke a 6 cm piece off
her ruler. It was 30 cm long.
How long is it now?

. The cycle ride is I8 miles long.
There are seven miles to go.

How far have we cycled?
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minutes

minutes

minutes

minutes

minutes
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minutes

minutes
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Five minutes

Write the matching digital times.)
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Multiplying and dividing

I
00

I
Write a multiplication and a 3 (x| 6
division for each set of cubes.

(LLLLLAY —
.|
Il
m—
SEey SRR
I
I

A ) L) WL
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2. &4 X
12

15

)
>
>
=

|5 = 5

Multiplying and dividing
GO0
3 Xd B =
=4
oW

(P00 Qo
LY
‘O3
) o~
l—l_ x
m O
=




Abacus Evalve Framework Edifion Year 3 PCM © Harcourt Education Ltd 2007
L ]
‘o . (]
i‘
° cO N
g S g e S

N N N N

X X X X
¢ 9000

™ T N o




~.Year.3.Block.ELePCM.32....) Name . ...
Dividing by 2

L 12 +2 = 2. 8 =2

3. 2 +2

Il
N
o
|
N
Il

5. 14 +2

Il
o
N
o
N
Il

0
(o))
.I.
N
|l

10. 18 =2

w
U1
o
I|I
N
Il

14. 1000 =2




Fractions
| &
Writi the missing numbers .. %6
and fractions to show how I
muctjch ofteuchtset is shaded. .6 '
% ofd=| 3
2. 5 ; 3
= AHad
& ADHAH
of 8 = of 6 =

B T e
i%b
.I:

of 6 =

ABAADA |" BHDSHOD
B AL NADAD SO0 Y
of 12 = of 12 =
> Db " @e006006
FY) 6000000
of 4 = of 16 =

4 SAJOA3 SNaDGY
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Fractions

. ‘_l;of6p= 2p




Fractions

=NCERY Ny =

. zo0f6 =
3 %ofD==
5. 5 0f 50 =
7. 7 0f 20 =
q %of30=
. %0‘f60=
3. %of30=
5. ll}of32=

3

2.

10.

12

14.

16.

3o0fd=|3
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...Year.3.Block.EL.».PCM36....| Name

Doubling

Double each set of coins.
Use real coins to help you.

double | 2p/=| P double | 5p

|
o

double double

©
I
©
©
Il
-




Abocus Evolve Framework Edition Year 3

-
sl
=
i ]
T
E
Q
=
a
m
=
c
g
g
=1
(=
Bl
=]
2

olour

r each pair.

Name

m
nd the puruchuteU Use one ¢
- \_f

hat has double the number.

Doubling and halving
[C;lour each plane a
t ble th mb
A\




Name

Doubling machine

o 8§
\,@ TR T T e e )
. %’J joc o|-

Complete these
doubling tables.

in |21 1243223 |14 | 4] | 3] | 42
out| 42

in
out
m |25| 5 |45|75| 15 |65 |35 |55
out




Nearest 10

For the blue spaceship,
colour blue the aliens that
have 60 as their nearest 10.

Do the same for the green (30),
orange (10) and yellow (90)
spaceships. A =

£00Z P¥] UOHDINP3 WNOUDH @ NDd € JO3A UOHIPI HOMSWIDI] SAIOA] SNODQY



..Year.3.Block A2+ PCM40.___) Name

Between

rite the number in between

these pairs of numbers.

E

|-|-

S
S
7
9.

T/

C

598

qu
E

IE64

EOB

L m—
L —
L m—]
L —
I,
L —
_______.-—-"
L —
=]
i

117

238 |
402
645

G



Ordering

[Write each set of numbers in order, smallest to lurgest.j
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e Blasl A2 o neas o Name .

3-digit numbers
4

A game for two or more players, each with a copy of this score sheet.
Shuffle a set of 0-9 number cards and place them face down in a pile.
Turn the top card over. All the players write the number in one of their
‘round |I' boxes. After three cards have been turned over, the player with
the largest number scores 5 points, the next largest 4 points, and so on.
Play six rounds. The winner is the player with the largest total score.

// i
round | round 2
score score
round 3 round 4
score score s
I.,.l i f{ // -
round 5 round 6
score score
O
o

total score




Multiples

(Cnmplete the table with ticks and crosses.)

multiple
of 10

multiple
of 50

multiple
of 100

multiple
of 2

multiple
of 5

630

v

X

X

v

v

950

35

180

220

95

20

46

|7

100

14 BAJOAZ SNDDGY
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Odd and even

Write the
missing numbers.

Name _

U Colour the odd UColour the eve
[ 1 numbers blue. [~ 1 numbers red.

y

1123|4567 |8,9|I0
1|12 18 20
21 23 25 27 30
3| 33| 34 36 38 40
41 | 42 47 50
51 53 55 59|60
ol 64 66 638 70
A 80
8l | 82 86 89|90
91192|93|94|{95|96|97|98|499/|100




Missing numbers

(Write the missing numbers.)

. 30 + =100
3. 80 + =100
5. + 50 =100
7. 70 + =100
q. 90 + =100
. + 75 =100
3. 45 + =100
5. 15+ =100
17. + 95 =100

10.

12.

14.

16.

18.

+ 40 =100

10 + =100

+ 60 =100

. 24 =+ =100

+ 65 =100

85 + =100

+ 35 =100

+ 25 =100

DD + =100

14 SA|OAT SNODOY

JOH @ INJd € 403\ UOHIPE HIOMAWID
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] Name E

Adding to 100

Loop pairs thntUThe numbers must be

|
add to 100. Rnext to each other. ] E
52(43[(11789) 44|25 ':

36|65/ 27/ 18|46/ 75
), |31(35/48]26/54/ 19
SH. [69/33]72(28]10(30

72|45|55(43/90(20
8192|16/59(27(80

[W‘rite your numbers (up to 100) in theULonp pairs thqtj

grid, so that pairs can be looped. [ add to 100.




NOMe.. . o = o 8 e i G

Adding to the next 100

make the next multiple of 100

y —& ’ v,

. 155 +*=200 2. 278 +*=3oo

3. 369 +*= 400 4 87 +*= 100
5. 525 +*= 600 ¢ 47 +* = 500
v 456 +*= 500 s 183 +*= 200

0. 397 +*= * o. 204 +*= *
N N

i 535 +*= * 5. 726 +*= *
N A

5. 894 +*=* % 962 +*= *
N N

@

(Write what must be added tc]

DH @ WNDd E 403, UOHIP] JIOMSWDL] BAI0AF SNODQY
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Adding to make 100

(Use the number lines to help you write in the missing numbers.)

0 100
| | | | | | | | | | |
. 47 + =100 2. 32 + = |00
0 100
| | | | | | | | | | |
3. 54 + = |00 4. 83 + = |00
0 100
1 | | | | | 1 | | |
5. 21 + = |00 6. 56 + = |00
0 100
| | | | | | 1 | | | |
7. 38 + =100 8. 79 + =100

@e these problems. )

q.

10.

One hundred children were invited to a party.
Seventy-seven children turned up.
How many seats were empty? ...

Mavis is 84 years old. She will get a telegram from the
Queen on her hundredth birthday.
How long does she have towait?

Sammy the snake is 58 cm long.
How many centimetres must
he grow to be one metre?

()
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The 3D shapes on the right have been opened out to muke}

the nets on the left. Colour the matching shapes and
nets, using a different colour for each pair.

Vi
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Litres and millilitres

Write these capacities
in millilitres (ml).

L 11200ml= ml
3.35l= e ml

5. 1L700ml= ml
7.25l= ml
@je these capacities irU

litres (1) and millilitres.

q.1500ml = ...... I ml
. 700ml = ___ - ml
13 I%l s S—— ml
5. 100ml = ____. P ml

4.3Hl= . ml
6.4L600ml= _________ ml

8 Iigl = e ml

10. 2300ml = _.... [ ml
12. 3000ml = ___.. — ml
4. 5600ml = ____. T— ml




Hours and minutes

Write these times
in minutes.

. lhrlOmins = ___________ mins

Write these times in
hours and minutes.

V_
9. 90 mins = ______ hrs ______ mins
I 65 mins = ...... hrs ... mins
3. 100 mins = ... hrs ... mins

16. 3}, hrs =

14. 50 mins = _.
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Frequency table

Fruits:
orange apple banana pear

plum peach apricot grape
pineapple melon mango guava
nectarine  greengage passion fruit  blueberry
strawberry raspberry  blackberry redcurrant
papaya fig blackcurrant  lychee

Complete the tally chart to show how many times
each of the vowels appears in the fruit names.
Use your tallies to complete the frequency table.

Number of vowels in fruit names

Vowel Tallies Vowel Frequency
a a
e e
i |
0 o
u u

. Which vowel appears most often?

2. Which vowel appears least often?




Bar graph

qiwer the questions about the bar gruph_)

Library books borrowed last week

40
303 =
Books ~ 20- E
borrowed = —
10- =
: - B _—
" Mon Tue Wed Thur "~ Fri “sat
Day

I. How many books were borrowed on: Monday?

Saturday?

2. On which day were: 31 books borrowed?........._.___
29 books borrowed? ...

the most books borrowed?___.._____.____.

the fewest books borrowed?_ ...

twice as many books borrowed as on Friday?__.__......._.

3. On how many days were:

£00Z P¥] UONDINP3 WNOMDH @ WOd £ JDIA UOLIPI HOMAWIDI] BAJOA] SNODQY

-------

-------

-------

———————

more than 30 books fewer than 28 books
borrowed? borrowed?

4. How many books were borrowed in the week? ...

@



Adding multiples of 10

of the two numbers below it.

n each blank box, write the tntulj

c

8.

60| * - 4
20|40 40|50 7010 60|30
6. 7
50|60
30 (20|40 10 6020 40(30(10
E}ﬂﬁ;:t' :?dgrsdaslgrig\—(ﬁu in the otherUWhat are the]
each bottom row. j_knumbers )_QUP numbers?
9. 10.
70(90
30 (40|50 30(50 |40
12. 13.

.




Subtracting multiples of 10

For each subtraction, roll a dice and
multiply the dice number by 10. Write
this number in the first box, then
complete the subtraction.

{007 PY] UOOINP3 LNOUDH @ WDd £ 108, UOJJIPI YICMSLLDI] SA|OAT SNODOY

J
. 65 — = 2. 70 — =
3. 85— = 4. 60 — —
5. 80 — = 6. 95 — =
7. 90 — = g. /5 — =
9. 100 — = 0. 120 — —
u. 105 — = 2. IS5 — —
3. 270 — = 4. 180 — =
5. 65 — = 6. 290 — =




° Name

Subtracting 20, 30, 50
@plete the grids.)

@I[ :
¢ } \ir //
«|/39]al[56]|2
82(48[51 ||| sobroc 3>
64(70|73 2
: L. P\

subtract 5>




L L S —

Adding two 2-digit numbers
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Year 3 Block D2 « PCM 58

Adding two 2-digit numbers

] Name _

@ttwo numbers from the clouds above to make each of the scores)

2

2 3 &

e

46

35

o

3

N

N

2.

w0 D) o0

=

w0 0 o0

3.

oy

e

{007 PY] UOHOINPI PNOMOH @ WDd £ 4084 UOHIP3 HIOMBWDIY SAjong SNODqY



Adding multiples of 10

(l"
For each addition, roll a dice and

this number in the first box, then
\Lcomplete the addition.

~

multiply the dice number by 10. Write

¥

V.

. 230 +

3. 120 +

5. 324 +

7. 154 +

q. 176 +

. 97 +

3. 276 +

5. 85 +

2. 340 +

4. 130 +

6. 132 +

8. 289 +

0. 231 +

2. 385 +

4. |77 +

6. 209 +

£00Z P UoRoINP3 UNOWUOH @ Wod £ /084 UojjiP] JIoMawDnld SAoA3 SNODQY




__Year.3 Block.D2.«.PCM.60.___] Name

Adding 9, 19 and 29

A game for two players, each with a counter on *Start’.
Take turns to roll a dice and move your counter a

matching number of spaces. Add the numbers you land
on, keeping a running total. The winner is the first one

t»oxnre 100.




Subtracting 19

The prices of all these toysU Work out the
have been reduced by I‘Ip.ﬂ new prices.

£00Z PY1 UORDINP3 UNOXOH @ Wld £ JD3A UOHIPI HIOMSWDI] BA|0A] SNODGY



Adding and subtracting 4, 149, 29 ...

L 43 + 19 = 2. 54 + 9 =
3, 72 + 29 = 4. 8l + 19 =
5. 68 + 29 = 6. 29 + 19 =
7. 37 — 9= 8. 46 — |9 =
q, 38 — 29 = 0. 37 —29 =
. 46 + 9 = 2. 55 + 19 =
3. 8 — 19 = 4. 64 — |9 =
5. 82 + 29 = 6. 75 —29 =
7. 63 — 19 = 8. 52 — 9 =

9. 14 + 39 = 20. 42 + 39 =




Colour each shell and the starfish that says 10 times
the number. Use one colour for each pair.

L STy A
oo 3 N A
1 % 1 O 1 0

JOH @ WOd E D2 UOlIPF JoMmawnid aajong snaogy

ol
[=]
=
-
m
Q.
c
n
a
#.
=]
=
=
=1
B
(=]
(=]
=4




( Write the missing numbers.)

il
L|3|x5=I5 2 X 5=20
3. X 5=30 4 4% 5 =
5. X5=25 6. ¥5=10
7. 2 X5 = 3 X 5 = 45
9. X5=50 0. 8 X 5=
I. X5=60 12. X 5=40
3. 6X5= 4. 10 X 5 =




NeanduRlockBRaREMBE M NOME .o
Dividing by 5 and 10

L 30=10 =

3. 25+ 5= 4. 50 5=

5. I5+5= 6. 70 =10 =

7. 35+ 5= 8. 20 +5=

q. 45 +5 = 0. 40 +5=

. 100 =10 = 2. 30 +=5=

3. 5 +5= 4. 1000 =10 =

/007 P31 UOIDINP3 LNGMDH @ WDd E J03), UOJHP] JICMSLWDLY SAJOA] SNODGY



Multiplying

A B C

D E F

G H I
J

@ce pairs that have the same number of squqres.)

. |Ajand | F | 3x4 = __4x3
%, and | | = e
3, and | | e
4, and | | e
5, and | | . = ——




Multiplying

@ce a multiplication to match each array of pegs.)

£00Z PY1 UGRDINPI UNOIDH @ INDd £ JOIA UOHIPI HOMBWDIY SAIOA] SNIDAY

. 3x|5 =15 2. 3 X =
T

3. 5% = 4. 3 X =

s3222

5. 5 X = 6. 6 X =

7. 2 X = 8. &4 X =

i i




CumpleteUColour the
the grids. multiples of 3.




Threes

Complete the gridsUColour the odd
_ﬂj__kpumbem.

on the right.




Counting in sixes

.. Fill in the missing numbers on the track.

%1

2. Complete this table using doubling:

| Xx3=3 IX6=
r 4§ 2% 0=|2

3x3=9 3X6=
4XB= . 4 X 6 =24

XY= DX D= i
X3 = . 6X6=
PRI i 1X6=
8xX3=24 8Xb=_
QRB= i 9x 6=54

10 X3 =30 10 X 6 =60




IDH @ WD E 103/ USIIIP3 HOMBLWDI] BAI0A] SNODAY
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Fractions

@Jur the correct fraction of each shupe.)

4 3 8
S ERY 2
5 kj4 6
7 %3 5
|12 8 8

i
OIN
o




Fractions

(Write the fraction of aliens thut:)

. have three legs | —

3. have one eye | —

_have less than

5. have the same

number of legs | —

. are happy | —

and eyes

7. have five legs
and three eyes

. have five legs | —

five eyes

- have three eyes

and are happy

£00Z P¥] UOHDINP3 LNOLDH & W)d £ 103/, UOHIPI HIOMALUDIY SA|0A] SNODAY




Fractions

N/

@nt the number of dots and complete the fractions.

. o - 2
o 0

3 - 2 -

zof| 8 6 2 of =
3 o olo olo oo o 4 o o o o o
O Q Q Qo 0 O (o] o o

O |0 Q|0 O|C O

3 _
2 of =
7 _ 5
5 of =
5, :
5 -
2 of =

of

Co|—

00T P17 USnDaND3 LNO3I0DHE /M WA © IDS 1 UGiliog SIoMSLIUIDId SAIGAT SNSRI



Nearest 100

Use number cards 2, 4, 7 andUWrite them down, then write
9 to make 3-digit numbers. J—k\the nearest 100 to each.

4

Name .o

L nearest 2. nearest
100 100

2 —— | 300 _—

3. nearest 4. nearest
100 100

5. nearest 6. nearest
100 100

7 nearest 8. nearest
100 100

q. nearest 10. nearest
100 100

. nearest 12. nearest
100 100

007 P17 uonoanpl UNoMDH & Wod £ 4033, uolipl NioMaWDid anjoAg SNIDOY



Year.3.Block.A3.o. PCM.26...] Name

Nearest 10

Write eight numbers in each grid that have
the centre number as their nearest 10.

. r
- |558| 561|562
557 | 560 | 563
556 | 555 | 564
2 3
480 330
4, 5
210 800
6 7.
950 690




Round the price of each bike to the
nearest £10.

£00Z P11 UOHOONP3 PNOLDH @ W) € J0BA UCHIPI HIOMBUWIDIS SAOAT SNIDAY

N 3 . J——

;I 3 5 [E—— R 21—
5 E219 s 6. £488 ....coccec
7. EI53 cmeeeoee- 8 T39O s
W 2 7 0. £464 .
TV 2 i | ——— 12. £505

The amounts in each moneybox have been rounded to the nearest £10.
Write all the possible original amounts.

Explore how many different amounts can round to £1000 if we first round
to the nearest |10 and then round to the nearest 100.

V

9\_J



Buying

Write how much money is left after buying each of
these ice-creams using the money in each purse.

24p

£232 £2319




O i i e
Subtracting money
@e the new prices)
20p off 50p off 30p off
£105

[007 P37 USHDINP] MNOMOH @ W2d £ J03 A UoiiP] YIOMSWDI] 30N SNODOY

99p




m] Name ...

Adding money

Danny Adam
(T
£1-30 30p
] e
Jane Suki Pat Ivor
m— (L ogs ) (. )
£1°55 £1-30 30p
] [ [ [
(erte the total savings hetween
4
. Samand Amal ... 2. Ivorand Adam ...
3. Adam and Suki ... 4. Danny and Jane ...
5. Patand Sam ______________. 6. Amaland Ivor ...
7. Suki and Jane ............... 8. Danny and Amal ...

9. Sam and Adam _______________ 10. Sukiand Pat ...




Problems

Miko saved £2-65, and was
given 20p for walking the dog.
How much has he got now?

&

Toy cars were £1:95 each. They
are now 30p off. How much
do they cost now?

When Tara has saved another
30p, she can buy an annual
which costs £3-85. How much
has she got now? /I

. A DVD costs £4'65 to rent, with

50p off for members. How
much does a member pay?

Kira sent for a magic set. It cost
£6-50 and 40p for postage.
How much altogether?

Last year tickets to the funfair
cost £3-10. This year they are
30p more. How much are they?

Pony rides this year are £5-40.
Last year they were £5'15. How
much has the price gone up?

Sunglasses have been reduced
by 10p from £5:80. How much
are they? e

Manraj has £5:70 of his holiday
money left. He buys some
sweets for 30p. How much

does he have left? {;gj}

. Hamish spent £5:15 on a train

ticket to Glasgow, and bought
a 50p drink. How much did the
journey cost altogether?

£00Z PY] UOREONP3 LNO3IDH @ WDd £ JOIA UOHIPE HHOMBWDIS SAIOA SHODGY



(Cornplete these udditions)

.

13

15

P

124 + 13 =

237 + 2| =

464 + 3| =

632 + 47 =

4bb + 45 =

. 225 + 54 =

8

4,

6

8.

10

12.

4.

16.

36l + 17 =

172 + 16 =

. 423+ 23 =

315 + 51 =

. 384 + 13 =

621 + 78 =

364 + 2| =

576 + 2| =




Problems

Karl had 138 stickers, then his
brother gave him 30 more.
How many does he have now?

Tai had 214 conkers, and won
another I5. How many has he
now?

Seven days ago, Poppy the
puppy was 212 days old. How
many days old is she now?

Meg has 104 teddies. She got
I2 more for her birthday. How
many does she have now?

Kevin has 304 points. He
needs 2l more points to win.
What is the winning score?

Kemba had £5-43 last week.
This week she has £5-96. How
much has she saved in the
last week?

There were 12| people in the
queue for the concert, then 26
more people arrived. How
many people are in the queue?

Nik was given £2 for Christmas
to add to his 24p savings. How
much more does he need
to buy a robot for £2:99?

£00Z PY] UOUDINPI UNGOIDH @ WO £ D3 UOHIPI HIOMSLIDIY SAI0AZ SNIDAY



Adding near doubles

Complete these additions
by doubling first.

4

. 23+ 24 =

3. 45 + 47 = 4, 12413 =
5. 16+ 17 = 6. 32+ 33 =
7. 3+ 32 = 8. 47 + 48 =
. 17419 = 0. 26 +27 =
1. 44 + 45 = 2. 45 + 46 =
3. H+13 = 4. 21+ 23 =
5. 38 + 39 = 6. 4l + 42 =
7. 34 + 36 = 8. 27 + 29 =




Next-door numbers

[

For each circle, find the two ‘next-door’ numbers that have that total.
Colour each pair on the grid. Try to use a different colour for each pair.

4
I 2 | 3| 4| 5| 6|78
Q10 1 {12 13|14 ] I5] 16
7 | 18 | 19 | 20 | 21 | 22 | 23 | 24
25126 | 27|28 29|30 | 3l | 32
33| 34| 35|36| 37| 38| 39| 40

@ WDd £ 103, UOIIP3 HIOMBLWIDI] @AJ0A7 SNODAY

0NDINP3 PNO2IOH

L00Z P W



—..Year.3.Block.B3..PCM.86......

Even and odd

C
additions.

omplete these UCGlour the odd UColour the even

| answers green. [~ | answers yellow.

ees=bl S
L err=bI
cee2=b0
e3=bF
vle+2=b0
var3=lS S
N

\ S

s+8=17 ™
7ea=b2
1+6= 67
545200
7+8= b0
643207
242200

®

i

e
",
| =y Y



Abacus Evolve Framework Edition Year 3 PCM © Harcourt Education Ltd 2007
SN
Ny
i
.I.r =)
#

BT it mote e st s s g Al o

)

omplete the grids
on the right.

Fours
Q/ '




Threes and fours

] NaMe

A game for two or more players, each with a counter on ‘start’.

Take turns to roll a dice, and move your counter a matching number of
spaces. If you land on a number in the x4 table, jump forwards to the next
multiple of 4. If you land on a number in the X3 table, jump backwards

~

T

@e previous multiple of 3. The winner is the first to reach ‘finish’.

2112212324 (25(26(27|28 29|30
31132|33(34(35(36(37(38/39 40| &
4114243444546 47 48|49 |50 fimf:

007 P17 VeDInpg UNoXoH @ WD £ 1094 UOlIP] MIomMaLUDl] SAl0A] SNIDOY



&
g
i
%
A
g
Lt
=
0
=
i ]
-
=
o
=
p=1
m
o
€
(a)
=
8
3
a
It
=]
=

(E

Fours
’/Exfl
Here is a trick for multiplying by 4:L. 6x2=12
first multiply by 2, then double it! )—— double 12 = 24
b X 4=24

L .
| Try these. |
L X2 = 2. X4 =
3. 10 X 2 = 4]0 X 4 =
5 3% 2= 5 I NG =
7. L= 8 S5 X4 =
q J X2 = 0. 7 X & =
. 9% 2= 2. QX4 =
3. Bx2 = 4. BX 4 =
5. Il X2 = 6. |l X 4 =

W W W W




Right angles

Fold a piece of paper
once to make @
straight line.

Fold it again to make
[u right angle. } @/ g

Colour the right angles blue.
Colour the smaller angles yellow.

ﬂ Colour the larger angles green.

Use your right-angle measure
to check these angles.

2.

[
/A\
-

pd
)
IR

£00Z PV UOHDINPT HNOMOH @ WJd £ 4034 UDIIP] HomaLDI SA|0A7 SNODGY



Right angles

Use a set square to find out which of the marked angles are right angles.
Circle the right angles clearly.

A1 \E .
<] \°

0 X ; N/

%w three right angles on your page using the set square.)

L00Z P¥] UDRDINPI LNOJOH @ Wd € 1034 UOIIPT HOMSWDIY SAIOAZ SNODAY



North, South, East and West

X

-

&

@, w+s

4

m X, what direction is:)
: 2.

G
e

@1 Y, what direction is)
> 3 " ﬁw

gjn Z, what direction is: )

JO0F D17 UonDONPE3 UNOMOH & INDd £ 1084 Uolipl JioMmawundd SAjoA] SNODOyY



North, South, East and West

I/'

%

A game for four players. Cut out these cards. Shuffle them and then place
them face down in a pile. Each player chooses a direction (North, South,
East or West), and sits round a table to match. Take turns to pick up a
card, decide the final direction, and give the card to the player sitting in
that direction. The winner is the first to collect three cards.

L

Face West.
Turn clockwise
through two

Face North.
Turn clockwise
through three

Face South.
Turn clockwise
through four

Face East.
Turn clockwise
through three

through one

through three

anticlockwise

right angles. right angles. right angles. right angles.
Face South. Face East. Face North. Face West.
Turn clockwise | Turn clockwise | Turn Turn

anticlockwise

anticlockwise
through three
right angles.

anticlockwise
through one
right angle.

anticlockwise
through three
right angles.

right angle. right angles. through one through two

right angle. right angles.
Face North. Face West. Face East. Face South.
Turn Turn Turn Turn

anticlockwise
through two
right angles.

£00Z P17 UONDINP] HNOMDH @ WId £ 408, UOIPI YOMaLUDI] SA|OAT SNoDOY




North, South, East and West

: s East 2
Describe thesepaths. | [ [ [ [ L L1177
@urt at the spot each timej Southz
West 3
N
1 South 2
W E T
S
.0 I I (T Y R [ L AR




Abacus Evolve Framework Edition Year 3 PCM & Harcourt Education Ltd 2007

)

Grams
Find one of UWrite the weight
each object. in grams.
I' — & — 2
4 :
7



...Year.3.Block.C3.« PCM.96.....) Name

Grams and kilograms

l.
Circle the weight you think is
the nearest for each object. 10 g
7 100 g
3.
=Y 500 g
C 500 kg
509

[ Tick the weights you could use to make each total. )

4

Totals | lkg | 500g | 200g | 100g | 50g 209
650 g v v v
270 g
8509
1520 g
1870 g




Position

oat

A B C D E F G H

%w these animals on the grid. )
l. 2. F 3. i F 4,

Badger, A3 Duck, C6 Cow, H6 Horse, El
5. ﬁ 6. ‘h 7. 4;? 8.
Otter, D5 Chicken, HI Sheep, G4 Hedgehog, F2
CWhich animal is:)
4
9. Neorest the QoatY ....cowswmssmasu
10. furthest away from thegoat? ...

£00Z P¥] UOKDINPI BNOLDH @ WDd £ 1034 UOHIPI HIOMSWDL SAIOAS SNIDGY

Il. inthe samerowasthegoat? ... ... @




Days and weeks

Write how many days are UWrite the amount
circled on each calendar page. [~ | in weeks and days.

January
Mon Tues Wed Thur Fri Sat Sun

3
PO ®
an @2 @ w4 Is

6 17

I8 19 20 21 22 23 24
25 26 27 28 29 30 3l

February
Mon Tues Wed Thur Fri Sat Sun

| 2 3 4 5 6 7
8 9 10 I 12 13 14
5 @® @ ® O @ @
@ @

24 25 26 27 28

days

weeks and days

days days
weeks and days weeks and days
April
Mon Tues Wed Thur Fri Sat Sun
@ ®

9 20 21 22 23 24 25 |
26 27 28 29 30

days

weeks and days




Venn diagrams

@;’te the sets of numbers in the correct places on the Venn diugrums.)

numbers less than 12

numbers more than 6

3

14

10

6

15

numbers more than 7

even numbers

17

10

14

13

numbers less than 10

odd numbers

13
|7

W

£00Z PY UOROINPI UNOJDH @ Wd £ J03, UOIIPT YIOMalUDId SAj0AT SNODOY




Venn diagrams

(Write this set of numbers in the correct places on each Venn diugram)

Vi

85
45
36

35

28

40

63

89

46

52
42
71

between
25 and 55

a double

digit total
more than 7

A3 LROY0HE & W4 © 0350 USilp] NIoMawDld SAjoA] sN2Day




Carroll diagrams

and subtractions.

Complete the udditionsUCpr the answers into the correctj

ﬂsections of the Carroll diagram.

2+ 4 = 2. 16—3=
3. 6+9= 4. S5+6=
5. 20— 8 = 6. 10—2=
7. 23— 6 = 8. I0+10 =
. 13 -9 = 0. 3+2+2=
. 8+8= . 4+ 3+ 2=

less than 14 not less than 14

odd

£00Z P¥] UOHDINP3 UNOMDH @ (NDd £ 103 UOCIHPI IOMSWIDI] SA|0AZ SNIDQY
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—.Year.3 . Block.D3.« PCM.I02...| Name

Adding hundreds, tens and units %

@Eam e e m@mplete thej

three dice and use the scores

to make a 3-digit number. Wﬂdd'tm”*




o
(Complete the udditionﬁ ot ‘}
o ip’

L 3034328 =_...... 2. 435+ 604 =
3. 104+4+507=_______ 4 1254236 = ...
5. 212+ 158 =________ 6. 119+203=________
7. 321+ 216 = .. 8. 205+192 =
9. 433 +247 = .. 0. 174+322=________
. 346 +243 = 2. 152+427 =

20aQy

H G WNDd £ JDa ) UoiP] HIOMSWDI] aA|OAZ SN
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Throw a dice six times and
use the scores to make two
3-digit numbers.

4

Add them
together.




—

Adding using formal methods

@pl&te these additions.)

. HTU 22 HTU 3 HTU a4

| 33 311 36 2
2 4 2 | 39 326

+ 326 +234 +113
7 0 |

5. HTU 6 HTU 7 HTU s
310 2 2 2 | 2 7
249 364 | 58

+ 1 33 + 119 + 4 | 2

q. HTU . HT U 1. HT U 52
2 4 4 4 2 3 4|1 6
| 22 | 4 9 2 27

+ 4 | 8 + 2 2 6 + | 66

Name

UCHIPg HOMBLWDI4 BAJ0OAT SNODAY

HTU
346
2 4 |
+ 1 15

£00Z P¥] UOROINPI UNOIDH @ WDd E ID3A

HTU
4 4 4
22|
+ | 34

HTU
| 5 4
415
+239

@



..Year.3.Block.D3.« PCM.I06..) Name

Adding using formal methods

f , ™
A game for two or more players, each with a copy of this scoresheet.

Roll a dice nine times. After each roll, all the players write the score
in one of their ‘round I' boxes. After the ninth roll, the players add
their three 3-digit numbers. The player with the largest total wins

5 points, the next largest 4 points, and so on. The winner is the one
with the most points after six rounds.

Y,
round | round 2 round 3
HTU HTU HTU
+ + +
score score score
round 4 round 5 round 6
HTU HTU HTU
+ - +

score score score




Difference

(Complete these difference tubles.)

L

21

26

19

24

|4

12

30

35

27

23

25

19

27

3l

29

22

38

47

4|

43

32

37

66

o9

62

54

49

58

ol

39

40

53

67

O}IP3 JiloMalwDld aAjOA] SMIDAY

DH @ WDd £ 1034 U
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Problems

—Year.3.Block.D3.e PCMI0&. ] Name . ...

Aman is |5 years old and Rani
is 9 years old. What is the age
difference?

In the athletics team there are
24 girls and 16 boys. What is
the difference between the
number of girls and boys?

A football magazine costs 28p
at one shop and 35p at
another. What is the price
difference? =

The difference in height
between Lucy and Kim is 6cm.
Lucy is taller; she is 127cm tall.
How tall is Kim?

h
2\

Cho has six more sweets than
Rob. She has 25. How many
sweets does Rob hmre'?

“% 73

Matt has read 47 pages.

Tim has read 69. What is

the difference in the number
of pages?

The trainers cost qu, but Anna
bought them in the sale for
£85. How much did she save?

Mary got 89 on her spelling

test. Sam got 76. What is the

difference between their
marks?
(89)




Subtracting 3-digit numbers

@ce the missing numbers tuj

3

9.

complete the subtractions.

254—||0=©
33— 150={ ")

o —

C::} — 430 =102

10.

14.

456 — 220 = @
248 — 140 = Q

339 — = 209

31— @ = 56l
— 310 =316

364 — = 194

IOH @ Wd £ 1084 UOIP] HIOMSLWDI4 SAJ0AT SN2DOY
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] Name

:"*-Xﬁ‘“*

ing

rite a division to matc
each set of cubes.

e

vid

2

10 +5

-0

oll
Fo |l
0

)

Eo |l

Eoll

Foll Fol

Y4

_EO

—

Lo |1

Lo !

o |0

Lo |l

.0 '_.z-]:o ]

Lo |}

&2

= O

o |!
-

o)

il to

o

ol

__Q'J' 1,

old |

a’

:f-i"l

=

0

weal
-

o

lo

Al

ol

¢

- L.

Eolo 1‘0
-0

=/

Lo |!

Fo
-0

O
'O‘ - J éﬂ‘




Dividing with remainders

Complete these divisions,
writing the remainders.

UOIDINE3 UNOMDH @ WD £ 103, UOliPI HIomalinid 8Aon] snaogy

3. 4+3= I 4. Il +4 = r

LODZ PN

5. |l +3= r 6. 19+2= r

7. I7+5= r 8. 47 - 10 = r

9. 8=+=3= r 0. I7+4= r

. 13 +2 = r 2. 38 +5= r

3.33 =10 = r 4. 26 + 4 = r

5. I7+3= r 6. 46 =5 = r




__Year3 BlockE3.ePCMU2 ___ JName

Multiplying by 10 and 100

L UXW0= 2.

TR & 3 [ ¢ £ R— 4, 18x10=
A G — 6. 12xI10= __________
7.26x100= g. 36 XI100=_________
q. AIXI00= 0. 56x10=___
. 80x10= . 260x10=
3. 60x10=_________ 4, 8x100=
5 3] X O =i 6. 240X 10 =
7. 150 x10= 8. 38x100=



Multiplying

7.

13.

5.

I7.

19.

0. 8X30=

2. 4 X60=

4. 7XxX20= .

6. /7 X40=

NP3 UNOMOH @ WId £ J03 4 UoIHP] HIOMaWDI] SA|OA SNODTY
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Multiplying

Roll a dice for each multiplication.
Write the dice number in the box.

Complete the multiplications.

| X20= . ... 2. X20= ... . s
3 X30=___.. 4. Xx30=_______
5 X40= 6. X40=
7 X50= . 8. X50=__ ..
q X60=_ .. 0. X60=_________.
1. X70= ... 12. X70= _ .
13. Xx80=_______.. 14, x80=_______.

I5. X0 = 16. X 90 =
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Fractions
LU LEL L] LT AT ElA] L1 &1 &1 &F-L
RlRZ|R2|R|R2|E|R]REZ]R]I2] 1] 12
I I I
6 6 6 6
| 1 | |
4 4 4 4
!
3
1
2
| whole
| Complete the pairs of matching fructicns.j
3
. - 2. o = —F 3.
6 6 4
q
4. S B SR = 6.
12 12 4
5
7. —_— B: 5 = e 9.
2 6 12
I
10. - T . &= 0= 12.
12 2 12




Money problems

(Write the amount you will have left from £1 after spending these nmcunts.)
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Money problems

(Write how much change you will get each time.)
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Money problems

Write the values of the fewest coins
needed to make each amount.

J
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Money problems

% 1 k
Choose the fewest Write how many of each [ Oen veal coiis
coins you need to coin you need, and how T —
make each amount. many coins in total. k Sa:hepyou.
Y J

Total
coins

68p | L1 |os

95p

£1-2]

£2-40

£1-64

85p

£1-07

£3-60

£3-17
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